Reste diferencialni rovnice:
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(zy? +x)dr + (y — 2%y)dy = 0
Cxyy =1 — 2?
Ytgr—y=a

cxydr + (z+ Ldy =0

VU2 + ldr = zydy
eY(1 + 22)dy — 2x(1 + e¥)dx = 0
(r? — 1)y + 2xy* =0, y(0) =1

y'simzr=ylny, y(3) =e

siny cosxdy — cosysinzdzr, y(0) = 7

yeotgr +y=2,y(3)=0
yx=y
y =y’

y'sinx+ycosx=0

y' = ycot gx

y' =2y
X—2

(separaci)

[y=cx]
[1+y?=C(1—2?)]
(2% +y? = InC2?]

ly = Csinz — d

[y = C(z + 1)e™]

[111|:r| =C+/y2+ L= (]}

[1+e¥=C(1+ 2?)

[(.‘(}S Ir = \,.fj

[+ x2)@+y?) = cx?|



Reste linearni diferencialni rovnice: (variaci konstant)

20. y'—y=1. [y=—1+ Klex]
21,y -y X _ 2sinx [y = (2x+c)sinx]
sin x
22. y'—y=X. [y=—x—1+K1eX]
! X 1 X —X
23. y+y=e". yzie +K,e
24, y'+y=e"". [y =Xxe "+ Kle*X]
25. Y +Xy =X {yzl—ce2
i 2X 1 2X -3x
26. y'+3y=e [yzge +ce
' 5 1 ]
27. y'+ Yy =C0sX {yzce +§(cosx+smx)
2\, 2 1_
28. xX°y'+3-2xy=0 {yzcx +;
29. xy'—y=x? [y=x2+cx_
4 X3 4_
30. y' +4x’y =x% y= (? + cjeX
31. zy — 2y = 2z° [y — C2? + 1".4]
2.y +y+1=0 y=Czr—1]
33. 2y + (z+ 1)y = 3a%e® :Iy — (23 + C—’]e_“']
3. (zy + e*)dr — zdy = 0 ly=e'(In|z| + C)
35. y=x(y — xcosx) ly = z(C + sinz)|
36. (xy — 1)Inz = 2y u — Cln*z—1In -.1?]

A7 ysinz + y' cosz = 1 ly = sinz + C cos x|



